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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 16265315
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 162653204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the number which. when added to itself 19 times, gives 400.

Options:
1. ® 18

Question Number : 1 Question Id : 162653204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

98 TGTT A9 F TF 19 g) 3H ¥ Sisa W IS IRomH 400 AT 2
Options:

1 * 18

> o 20
=z & 21

g ® 25

Question Number : 2 Question Id : 162653205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the number pair from options that has the same relationship between them as between the number pair below.

3 =81

Options:
1 ® 4:64

> % 5:125



3 % 1:40

4. o 5:625

Question Number : 2 Question Id : 162653205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % 4 : 64
> % 5:125
> % 1:40
4« 5 : 625

Question Number : 3 Question Id : 162653206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are given two statements and two conclusions. Choose the correct comment about conclusions from the options
below:

Statements:
All forests are trees.
Some trees are lions.

Conclusions:
1. Some lions are forests.
II. No lion is forest.

Options:
; = Only conclusion I follows

-~ = Only conclusions II follows

= « Either conclusion I or II follows

4 % Neither conclusion I nor IT follows

Question Number : 3 Question Id : 162653206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 162653207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the given words in alphabetical order and choose the one that would come last.

Options:
1 ® LEGAL

> % LEGEND
- « LEGIBLE

4 % LEGACY

Question Number : 4 Question Id : 162653207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, % LEGAL




., » LEGEND
- v LEGIBLE

. = LEGACY

Question Number : 5 Question Id : 162653208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Divya is taller than Madhu but NOT as tall as Roshini. Surya is shorter than Divya but taller than Nithya. Who among
them is the tallest?

Options:
1 +« Roshini

» & Divya

5 % Surva

4 % Madhu

Question Number : 5 Question Id : 162653208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 162653209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct mirror image of the following word:

TOMATO
Options:



; v OTAMOT
> % OTAWOT
5 ® TOWATO

4 ® TOMATO

Question Number : 6 Question Id : 162653209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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TOMATO
Options:

|« OTAMOT
, « OTAWOT
- « TOWATO

4 # TOMATO

Question Number : 7 Question Id : 162653210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[fD=4.FAN=21. then CLOCK =7

Options:
1 ® 38

[
g{
LAy
iy

4.« 4

Question Number : 7 Question Id : 162653210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3P D = 4, FAN = 21, @ CLOCK = ?

Options:



1 = 38
o & 42
ST ] 54

4o A4

Question Number : 8 Question Id : 162653211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing number in the below table.

4 3

[

10 1

60 24 6 2 0

Options:
1 ® 900

5 o 990
5 % 100

4 % 1000

Question Number : 8 Question Id : 162653211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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. % 900
5 990
2 % 100

, = 1000



Question Number : 9 Question Id : 162653212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Your friend unfortunately spills cool drink on you in a party. What would be your best course of action?
Options:

1 % You would snub him

> % Youwould laugh it off

5 » You would spoil his dress too

4 « Youwould say ‘it is ok’ but sulk nevertheless

Question Number : 9 Question Id : 162653212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 162653213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Read the following information carefully and answer the question given below:

X * Y means X and Y are of the same age:
X (@ Y means Y is younger than X.

Based on this information:

Keerthi * Ramya (@ Mala means :
Options:

, « Malais the youngest

> % Mala is the eldest



- w Ramya is younger than Mala

4 = Keerthiis the youngest

Question Number : 10 Question Id : 162653213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 162653214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HW+X=Y+Zand W+ Z =X + Y. then which one of the following is definitely WRONG?

Options:
| ® W>X

4o X=Z

Question Number : 11 Question Id : 162653214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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44 X>2Z

Question Number : 12 Question Id : 162653215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are given a statement and two conclusions. Choose the correct comment about the conclusions from the options
below.

Statement:
A large number of people die every vear due to drinking polluted water during the summer.

Conclusions:
I.  The government should make adequate arrangements to provide safe drinking water to all its citizens.
II.  The people should be educated about the dangers of drinking polluted water.

Options:
, » Only conclusion I follows

- # Only conclusion II follows

= % Either conclusion I or II follow

4 « Both conclusions I and II follow

Question Number : 12 Question Id : 162653215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 162653216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the odd one from the following.
Options:

, « Duckling

5 % Bray

5 % Hiss

4 ® Mew

Question Number : 13 Question Id : 162653216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 162653217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Naveena is 17T from the left end of a row of 29 girls and Reena is 17 from the right end in the same row. How many
girls are there between them in the row?

Options:



o o 3

w
®
Ly

e
b

Question Number : 14 Question Id : 162653217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Correct Marks: 1 Wrong Marks: 0.25

Single Line Question Option : No Option Orientation : Vertical
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Options:
1 ® 2

2« 3

3_&%5

4 % 7
Question Number : 15 Question Id : 162653218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
You are given a question and two statements I & II. You have to decide whether the data provided in the statements is

sufficient to answer the question.
Among Mohan, Arun. Suresh. Ravi and Praveen, who came last for the Birthday party?

Statements:
I. Mohan came after Arun but not after Praveen.
Ravi came after Praveen but not after Suresh.

I
Options:
Data in statement I alone is sufficient to answer the question.

i

1"
Data in statement IT alone is sufficient to answer the question.

z"
» Data in both the statements I and II is necessary to answer the question.

=
Data in both the statements I and II is not necessary to answer the question.

s

4 =
Question Number : 15 Question Id : 162653218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 162653219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I ‘south-east” is called ‘east’, “north-west” is called *west’. ‘south-west’ is called *south’ and so on, what will be called
as ‘north’?

Options:

1 % South-west

» « North-west
=z % South

4 % North

Question Number : 16 Question Id : 162653219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 162653220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the number of parallelograms in the following figure.

AN

Options:
1 * 12

4.« 15

Question Number : 17 Question Id : 162653220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1 = 12
o & 13
ST ] 14

L 15

Question Number : 18 Question Id : 162653221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing number in the below series.

I; .4,8,9,27, 16, 64, 25

Options:

1_&4-2

Question Number : 18 Question Id : 162653221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1, . 4,8, 9, 27, 16, 64, 25
Options:

1_-562

2_-563

Question Number : 19 Question Id : 162653222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



‘Which of the following venn diagrams correctly represents the below classes?

Clothes. Flowers, Red

Options:

1.9 @ED
g z

3% :Q

4 ® .

Question Number : 19 Question Id : 162653222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 162653223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Introducing a lady. Sanjay said, “She is the daughter of the woman who is the mother of the husband of my mother™.
How is the lady related to Sanjay?

Options:
1 % Mother

o o Aunt
3 % Sister

4 % Sister-in-law

Question Number : 20 Question Id : 162653223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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ereral Awarensss

Group Number : 2

Group Id: 16265312

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

erieral Awareness

Section Id : 16265312
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 16265316
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 162653224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is INCORRECT about Revolt of 18577

Options:
, w» Bahadur Shah was recognized as the Emperor by all rebel leaders.

- % Coins were struck and orders were issued in the name of Bahadur Shah.

o ®
At Bareilly, Khan Bahadur Khan conducted the administration in the name of the Mughal Emperor.



4  AtJhansi. Rani Laxmi bai started administration in the name of the Mughal Emperor.

Question Number : 21 Question Id : 162653224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 162653225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is INCORRECT about the Quit India movement?
Options:

; % The Quit India Movement was launched in August 1942.
oy

The famous newspapers as the National Herald and Harijan continuously supported the Quit India movement for the
entire duration of the struggle in 1942.

- » Communists were opposed to the Quit India Movement.

4 B

The movement in the Princely States was now to be not only for responsible government but for the independence of
India and the integration of the States with British India.

Question Number : 22 Question Id : 162653225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR TS MEeT ¥ SR & Reafaa § ¥ FiF o g
Options:

, TR TIFI HEleel 38 1942 H & R @ o)




2

e g¥es HR ERee S 9feE mEEResr & 1942 # wow & Off 30 # B g ot s
FT AR FARYF B

. » TETART SR BIE A & fEeE O

4 #

ﬁﬂﬂﬂ?ﬁaﬁeﬂmaﬁ%ﬁanmﬁﬁmaﬁwmﬁmawmﬁﬁarm#mm
F THIUT F T an|

Question Number : 23 Question Id : 162653226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following qualifications is INCORRECT for election of the President of India?

Options:
, = The person should be a citizen of India.

-  The person should be completed the age of thirty years.

- % The person should be qualified for election as a member of the House of the People.

4 = The person should not hold any office of profit.

Question Number : 23 Question Id : 162653226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 162653227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is FALSE about the provisions as to financial emergency in Indian Constitution?

Options:



. w Article 360 lays down the provisions of Financial emergency.

o

If the President is satisfied that a situation has arisen whereby the financial stability or credit of India or of any part of
the territory thereof is threatened he may by a Proclamation make a declaration to that effect.

3 %
A Proclamation issued may be revoked or varied by a subsequent Proclamation by the President.

4.
It shall cease to operate at the expiration of six months unless before the expiration of that period it has been approved
by resolutions of both Houses of Parliament.

Question Number : 24 Question Id : 162653227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 162653228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which right 1s NOT included to every citizen under article 19?7
Options:

1 % To form association

> % To freedom of speech and expression

- = loassemble peaceably and without arms



4  Right against exploitation or Beggar

Question Number : 25 Question Id : 162653228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 162653229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following in INCORRECT about the right to property?

Options:
1 % It was mentioned under Article 31.

- « ltwas repealed by the Constitution (forty two amendment) Act, 1976.

- = Now, this is a legal right.

4 = None of other options.

Question Number : 26 Question Id : 162653229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 162653230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which city is going to host the Olympics 20207
Options:

1 % London

>  Tokyo
= % Toronto

4 % Paris

Question Number : 27 Question Id : 162653230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 28 Question Id : 162653231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which female wrestler clinched gold medal in the freestyle 50 kg category in Asian games. 20187

Options:
, = DBabita Phogat

- » DivyaKakran

5  vinesh Phogat



4 = Kuljeet Kaur

Question Number : 28 Question Id : 162653231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 162653232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The famous “Hornbill festival® is celebrated in which of the following States of India?
Options:

, = Tripura

-~ u Chhattisgarh

-  Nagaland

4 = Lakshadweep

Question Number : 29 Question Id : 162653232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 162653233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Dhamal dance is a popular form of dance in state.

Options:
.= Gujarat

- » Chhattisgarh

5  Haryana

4 % Bihar

Question Number : 30 Question Id : 162653233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT Tl TT H TF AT FF 79 g

Options:

i ® 2

- B O |HE|E
3 Eﬁ'&TU'IT
4 % TN

Question Number : 31 Question Id : 162653234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following options is INCORRECT about popular names of the rivers?

Options:
; = The Ghaghara river is called Manchu and Karnali in Nepal.

-  The Gandak River is also known as Sarpo in Nepal.

= % The Burhi Gandak river is also known as the Sikrahana in Bihar.



4 w The Brahmaputra river is known as Tsangpo in Tibet.

Question Number : 31 Question Id : 162653234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATt F FFRT FE F TN # e #§ ¥ ST 37 BeeT o 27
Options:
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Question Number : 32 Question Id : 162653235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following peaks in the descending order of their heights.

Options:
, = Makalu, Annapurna. Nanda Devi, Dhaulagiri

5 o Makalu, Dhaulagiri, Annapurna, Nanda Devi

- # Makalu, Nanda Devi, Dhaulagiri, Annapurna

4 = Makalu, Dhaulagiri, Nanda Devi, Annapurna

Question Number : 32 Question Id : 162653235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 33 Question Id : 162653236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is correct about Goods and Services Tax (GST)?
Options:

 Initially it had three rate structure.

e o

- » Essential items including food are taxed at 5%.

-  Tlobacco and aerated drinks are placed on the top of the highest tax rate 28%.

4 # GST was implemented from 1 June 2017 in India.

Question Number : 33 Question Id : 162653236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T ¥ar ¢ (S.0EE) & X F TEeeT 5 ¥ Fi9 9 e 7@ 7

Options:
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Question Number : 34 Question Id : 162653237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The state of neither profit nor loss is termed as

Options:
« Without profit and loss

L .



- # Equal

5 » Imbalanced point

4 « Break in Point

Question Number : 34 Question Id : 162653237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 35 Question Id : 162653238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The is a process in which dissolved inorganic solids (such as salts) are removed from a solution (such as water).

Options:
1 % Reserve Osmosis

- o Reverse Osmosis

- = Repulsion Osmosis

4 % Revert Osmosis

Question Number : 35 Question Id : 162653238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 36 Question Id : 162653239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Night blindness is caused by a lack of :
Options:

1 % Vitamin D

- % Vitamin B
3 o Vitamin A

4 % Vitamin C

Question Number : 36 Question Id : 162653239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tatedt # FH F FROT AT T
Options:
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Question Number : 37 Question Id : 162653240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ‘Make in India’ initiative was formally introduced on by Prime Minister Sh. Narendra Modi at Vigyan
Bhawan, New Delhi.
Options:

| % 26 Januvary 2014

, % 25July 2014



s « 25 September 2014

4 % 04 December 2014

Question Number : 37 Question Id : 162653240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ut 7 A g AR @) # TF = 994, 72 Toel, # AF =4 sZAr 9gd # HO=iE 9
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Options:

| % 26 AL 2014
.« 25 TS 2014
-« 25 gt 2014

. » 04 femsy 2014

Question Number : 38 Question Id : 162653241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is INCORRECT with reference to the NISAR mission?
Options:

1.9

The mission is a partnership between Roscosmos (Russian Space Agency) and the Indian Space Research Organisation.

- » Itaimed to study hazards and global environmental change.

3
Data collected from NISAE. will reveal information about the evolution and state of Earth’s crust.

4 # None of the options.

Question Number : 38 Question Id : 162653241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 39 Question Id : 162653242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements about World Bank is INCORRECT?

Options:
; = The World Bank was created by the Bretton Woods Conference in 1944,

> w Itwas formerly known as International Bank for Reconstruction and Development.

5 = It'was apublic sector bank.

4 « It became operational in 1945.

Question Number : 39 Question Id : 162653242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 40 Question Id : 162653243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The headquarters of the UNESCO is located at

Options:



1 % New York
-~ % Geneva
5 o Paris

4 % London

Question Number : 40 Question Id : 162653243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Arithmetic Ability

3
16265313
0

0
No
No
0
20
Yes
0

0

Arithmetic Ability

16265313
1

Online
Mandatory
19

19

20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 16265317
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 162653244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

58.3%58.3+56.3%56.3+58.3%56.3

Thenahedt——————————————— is equal to:
583x583x583-563x563x563

Options:
1 ® 0:

> « 0.0003
5 % 0.005

4 % 005

Question Number : 41 Question Id : 162653244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

58.3x538.3+58.3%56.3458.3%56.3 ¢
28T IXAR IR T A e ¥ ¥ us s 2

383x5383x5383-5363x363x363

Options:

1 ® 0.1
- » 0.0005
- = 0.005

4 % 005

Question Number : 42 Question Id : 162653245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The unit digit in (32)2° — (28)%* + (23)° is:
Options:



Question Number : 42 Question Id : 162653245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(32)25 — (28)%* + (23)° H TFES 37 FT &7
Options:

1 % 1

2_-&5&4
3_%5

449

Question Number : 43 Question Id : 162653246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the sum of digits of the least whole number which should be subtracted from 52368 to make it a perfect square
number?

Options:
1 ® 10

4.;;,--"15

Question Number : 43 Question Id : 162653246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 = 10
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4« 15

Question Number : 44 Question Id : 162653247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The value of 0.431+ 0.26 — 0.439 is equal to:

Options:

Question Number : 44 Question Id : 162653247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
0.431+40.26 — 0.439 &7 AT e & ¥ fEes =T 872

Options:

Question Number : 45 Question Id : 162653248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two numbers are in the ratio 5 : 8 and the product of their HCF and LCM is 6760. What is the sum of the numbers?

Options:

1 ® 149
5 % 164
= « 169

4 % 182



Question Number : 45 Question Id : 162653248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A FENT 5 : 8 #Wﬁ%aﬂ?mﬂmmﬁ T H TATET T TR 6760 gl
S HTATHT FT TET 4T 77

Options:

% 149

. w 164
- v 169

L% 182

Question Number : 46 Question Id : 162653249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average weight of boys in a class is 60 kg and that of girls is 50 kg. If the average weight of the whole class is
56 kg. what is the ratio of boys and girls in the class?

Options:

1 ® 255

W
b
L
L

Question Number : 46 Question Id : 162653249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TS FHET H oS 1 H@T T 60 kg HRT wEfEFA # @ I 50 kg g1 TEr TIOT FETW F HES
T 56 kg ¢, FaT H o5 MR Fsfear g #4982

Options:

1 #® 23
> o 3 :2
= #® 3:5



Question Number : 47 Question Id : 162653250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two vessels A and B contain spirit and water in the ratio 3 : 5 and 3 : 2 respectively. In what ratio their contents should
be mixed to get a solution of spirit and water as 19 : 217

Options:
1 & i 1

Question Number : 47 Question Id : 162653250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar ot A R B & Fen 30 5 AR 3 0 2 F g A FPafe sl ol #1019 ¢ 21 F g A fEafe
3R O F O WoT F F AT SR @R R s 7 R fhr s arfge?

Options:

1«94
> % 4 : 3
2% 7:9
4% 831

Question Number : 48 Question Id : 162653251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of T 30,566 is divided among A. B and C such that 5 times A’s share, 3 times B’s share and 2 times C’s share are
equal. What is the share of B?

Options:
, % T5916
5 & T9.860

5 » 10,846

4 » T11,832



Question Number : 48 Question Id : 162653251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
730,566 F T A BANC HSH @ T T s1r ¢ &5 A & Re®r &7 5 7+, B % fgwy &7 3
T AR C & feed &7 2 I e §1 B & REaw foaer g2

Options:

 » 5916
. » 29,860
. » £10,846

L x T11,832

Question Number : 49 Question Id : 162653252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the numerator of a fraction is increased by 1509 and the denominator is decreased by 50%, then the fraction becomes

z . What is the original fraction?
Options:

2
5

Question Number : 49 Question Id : 162653252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T YT o7 31 150% =aT BT I 3R & 50% w7 3 R T W B - @ S ¥ 7 e
4T 87

Options:

o ba



Question Number : 50 Question Id : 162653253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

By selling 25 articles, a person gains the cost price of 5 articles. What is his gain percentage?
Options:

=0

3

1"
2« 20%

Question Number : 50 Question Id : 162653253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
50
i
3

ey

1. e
> R 180.:"&:

4. ® 25%

Question Number : 51 Question Id : 162653254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



An article is sold at a certain price. By selling it at Z of that price, one loses 10%. What is his loss percentage at the
original price?
Options:

1. ® 20%

| ]
LA
=3
c\

2

Question Number : 51 Question Id : 162653254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
#$ 5 T RRTT qeu o & S ¥ 36 Aqew F D W W I o0 S F 10% o @
gl AT FEd R 3TF &l Ao e g2

Options:

% 20%

- v 25%
2 % 28%

L ® 30%

Question Number : 52 Question Id : 162653255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The value of a machine depreciates every year at the rate of 10% per annum. If the present value of the machine is
< 6,000, what is the percentage decrease in its value in 3 years?

Options:

~

L« 27.1%

Question Number : 52 Question Id : 162653255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



veh AN H Hed Todd a9 10% i a9 $ & & giied g 81 3PN A &1 ToAE H{eF 6,000 &
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Options:

L@ 27.1%
o % 27.7%
2 % 29.2%

L % 30%

Question Number : 53 Question Id : 162653256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the diagonal of a rectangle is 13 cm and its perimeter is 34 cm. what is the area of the rectangle in cm* ?

Options:
1 ® 30

> R 45
3. ¢ 60

4 ® 75

Question Number : 53 Question Id : 162653256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TF HTT &7 30T 13 cm & 3T 39 9@ ™ 34 cm & 3 H1OT FT 896 g cm? 22
Options:

1 * 30

> 45
3 « 60

g ® ?5

Question Number : 54 Question Id : 162653257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If each edge of a cube is increased by 40%, what is the percentage increase in its volume?

Options:



;% 120%
> o 174.4%
5 % 196.8%

4 % 224.8%

Question Number : 54 Question Id : 162653257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
MR TF U & HR Hl 40% T &I S1ar g, o 39 aR#mor # faas gfawa & gig g

Options:

L% 120%
o @ 174.4%
- = 196.8%

L % 224.8%

Question Number : 55 Question Id : 162653258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A, B and C alone can complete a work in 20, 24 and 30 hours respectively. They all started the work together but A and
C left after working for 6 hours each. In how many hours will B alone complete the remaining work?

Options:

Question Number : 55 Question Id : 162653258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 56 Question Id : 162653259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 12 persons working 8 hours a day earn ¥ 16,800 in 5 days. then 18 persons working 6 hours a day for § days will earn
how much money?

Options:
.« 30,240

> u 36,288

5 » $40,320

4w 348384

Question Number : 56 Question Id : 162653259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR A F s F A FE TF 12 coFg 5 RA T T 16,800 FAC £ aF fd & 6 o 17 &= I
18 cufda 8 fed & frgar Sar FaArE?

Options:

. » £30,240

. » 36,288

. = 40,320

. » 48,384

Question Number : 57 Question Id : 162653260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The speed of a boat in still water is 12 km/h. It can go 24 km upstream and return downstream to the original point in
4 hours 30 minutes. What is the speed of stream?

Options:



Question Number : 57 Question Id : 162653260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
o 9=l &7 ve &g B fF 12 knvh §1 98 4 9¢ 30 fRAE 7 24 km aR-giage SR 3EEEE H
S TAT T W Hepall g1 ORI F1 39T T 87

Options:

% 2 km/h

., » 3 km/h
2 v 4 km/h

. % 5 km/h

Question Number : 58 Question Id : 162653261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Without stoppage. a train travels at the speed of 120 kevh, and with stoppage. it travels with a speed of 110 km/h. How
many minutes does the train stop on an average per hour?

Options:

1 ® 4

rd
S
LA

i
b
o

Question Number : 58 Question Id : 162653261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Sub-Section Number: 2
Sub-Section 1d: 16265318
Question Shuffling Allowed : Yes

Question Id : 162653262 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cesticn Label | Comprehension

The following table gives the height of students in cm in a primary
school. Read the table and answer the following questions.

Class_ 80-90 | 90-100 | 100-110 | 110-120 | 120-130 | 130-140
Interval
No. of

27 ; T2
Students = 62 - =
Sub questions

Question Number : 59 Question Id : 162653263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the average height of students in cm?

Options:
1« 1156
> % 116.8

5 % 1172

4 % 1184

Question Number : 60 Question Id : 162653264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If the data given in the table is represented as Pie-
chart, what is the central angle of the sector
representing the interval in which the median lies (to
the nearest whole degree)?

Options:

LMy

63

1 ®

Question Id : 162653262 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cestion Label | Comprehiension

ST arfoerT v 9uT&s 9rsemer & ©Er & &
FEAeT & o &1 e gt e gt ¥ 3ea £

T 80- | 90- | 100- | 110- | 120- | 130-
aqer| 90 | 100 | 110 | 120 130 140
e
& 22 | 64 | 62 72 80 100
FET

Sub questions

Question Number : 59 Question Id : 162653263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

STEr F AET w5 TEHERT # Faer g2
Options:

. ¢ 1156

> % 116.8

2 % 117.2

L % 1184



Question Number : 60 Question Id : 162653264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 61 Question Id : 162653265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following options is a complete sentence?

Options:
1 % Kith and kin.

- % Once in a blue moon.
=z % The isles under the sun.

4 « Corruption is a menace.

Question Number : 61 Question Id : 162653265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following options is a complete sentence?

Options:
1 % Kith and kin.

- % Once in a blue moon.
% % The isles under the sun.

4  Corruption is a menace.

Question Number : 62 Question Id : 162653266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a suitable clause to complete the sentence.

The world is becoming a global village:
Options:
, « Yet. there are some who bring about divisions.

- u despite there are some who bring about divisions.

- » therefore, there are some who bring about divisions.

4 # S0 are some who bring about divisions.



Question Number : 62 Question Id : 162653266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a suitable clause to complete the sentence.

The world is becoming a global village:
Options:
, « Yet. there are some who bring about divisions.

- % despite there are some who bring about divisions.

- u therefore, there are some who bring about divisions.

4 = S0 are some who bring about divisions.

Question Number : 63 Question Id : 162653267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which sentence makes the most sense?

Options:

. « No sooner had I arrived at the airport than the plane landed.

> w No sooner [ arrived at the airport than the train came.

5 = No sooner had [ arrived at the airport the train came.

4 # No sooner had [ arrived at the aitport than the train had landed.

Question Number : 63 Question Id : 162653267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which sentence makes the most sense?

Options:

,  Nosooner had I arrived at the airport than the plane landed.

-~ % No sooner [ arrived at the airport than the train came.

- » No sooner had [ arrived at the airport the train came.

4 % No sooner had [ arrived at the airport than the train had landed.



Question Number : 64 Question Id : 162653268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
My friend his keys. He doesn’t have them with him now.

Options:
1 % had lost

> % has been lost
3 % Jlost

4 « has lost

Question Number : 64 Question Id : 162653268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
My friend his keys. He doesn’t have them with him now.

Options:
1 % had lost

- % has been lost
3 % Jlost

4 « has lost

Question Number : 65 Question Id : 162653269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The company is trying new talent.
Options:

, % Sspot

o 1o spot

5 = Spotting

4 = tospotting

Question Number : 65 Question Id : 162653269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The company is trying new talent.



Options:
1 R spot

5 of to spot

= # Spotting

4 # tospotting

Question Number : 66 Question Id : 162653270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the sentence in Reported Speech.

“The kids are longing to meet their cousins”™, the parents said.
Options:
. w» The parents said that the kids are longing to meet their cousins.

- % The parents said that the kids longed to meet their cousins.

-  The parents said that the kids were longing to meet their cousins.

4 # The parents said that the kids were longing to meeting their cousins.

Question Number : 66 Question Id : 162653270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the sentence in Reported Speech.

“The kids are longing to meet their cousins”™, the parents said.
Options:
, = The parents said that the kids are longing to meet their cousins.

- % The parents said that the kids longed to meet their cousins.

-  The parents said that the kids were longing to meet their cousins.

4 % The parents said that the kids were longing to meeting their cousins.

Question Number : 67 Question Id : 162653271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate question tag.

He must mend his ways,
Options:
1 % won’t he?

> #% doesn’t he?
3 o musin’t he?

4 % must he?

Question Number : 67 Question Id : 162653271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate question tag.

He must mend his ways,
Options:
1 % won’t he?

- % doesn’t he?
3 o musin’t he?

4 % must he?

Question Number : 68 Question Id : 162653272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word.
She would be taciturn whenever she met the teacher.

Options:
1 % Terse

- % Tense
%z % Confident

4  Unresponsive



Question Number : 68 Question Id : 162653272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word.

She would be taciturn whenever she met the teacher.
Options:
1 ® Terse

- # Tense
% % Confident

4  Unresponsive

Question Number : 69 Question Id : 162653273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word.

The doctor seemed eccentric.
Options:

1 % Bullish
- « Abnormal

2 R Dapper

4 = Short-tempered

Question Number : 69 Question Id : 162653273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word.

The doctor seemed eccentric.
Options:

1 % Bullish

> « Abnormal

- » Dapper



4 w Short-tempered

Question Number : 70 Question Id : 162653274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following sentences in a meaningful and grammatically correct order.

A. Now it seems to be the smartphone.

B. More and more children are becoming obese nowadays.

C. They manage to snatch it from parents to pass their time.

D. Some years back. the cause for obesity. according to researchers, was the television.
E. Then it starts controlling these smartphone addicts.

Options:
1 ®# BACDE

> v BDACE
- = ACDBE

4 % CDABC

Question Number : 70 Question Id : 162653274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the following sentences in a meaningful and grammatically correct order.

A. Now it seems to be the smartphone.

B. More and more children are becoming obese nowadays.

C. They manage to snatch it from parents to pass their time.

D. Some vears back. the cause for obesity. according to researchers. was the television.
E. Then it starts controlling these smartphone addicts.

Options:
. % BACDE
> « BDACE

- % ACDBE

4 ® CDABC

Question Number : 71 Question Id : 162653275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Provide the appropriate ANTONYM for the underlined word.

My parents are contemplating immigration to Canada.

Options:

; = Discovering

-~ » Contaminating

5 w Feeling

4 « Rejecting

Question Number : 71 Question Id : 162653275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate ANTONYM for the underlined word.

My parents are contemplating immigration to Canada.
Options:

; = Discovering

-~ » Contaminating

- u Feeling

4 « Rejecting

Question Number : 72 Question Id : 162653276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate ANTONYM for the underlined word.

He believes in fransparent communication.

Options:
1 % Doubtful

5 of Opaque

z % Candid



4 % Mystic

Question Number : 72 Question Id : 162653276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate ANTONYM for the underlined word.

He believes in transparent communication.

Options:
1 % Doubtful

5 of Opaque

= % Candid

4 % Mystic

Question Number : 73 Question Id : 162653277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct preposition.

The loss due to the Kerala floods is < 19.000 crores.
Options:
1 « around

> % beneath

z % underneath

4 % Aacross

Question Number : 73 Question Id : 162653277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct preposition.

The loss due to the Kerala floods is < 19.000 crores.
Options:
1 « around

- % beneath



= % underneath

4 % 8cross

Question Number : 74 Question Id : 162653278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct preposition.

China. America produces the maximum quantity of paper.
Options:
1 % Beside

-~ % DBelowed
5 « DBesides

4 % Below

Question Number : 74 Question Id : 162653278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct preposition.

China. America produces the maximum quantity of paper.
Options:
1 % DBeside

- % DBelowed
5 « DBesides

4 % Below

Question Number : 75 Question Id : 162653279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate conjunction.

He not only plays the piano the violin.
Options:
1 % and



> % but

- u despite

4 « butalso

Question Number : 75 Question Id : 162653279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Provide the appropriate conjunction.

He not only plays the piano the violin.
Options:
1 % and

- % but
despite

S

4 « butalso

Sub-Section Number : 2
Sub-Section 1d: 16265320
Question Shuffling Allowed : Yes

Question Id : 162653280 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cesticn Label | Comprehension



Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend, her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?”” I asked. “Well, I don’t know if I can explain
it.” she said. “I was so focused on the moment. when it was actually
happening.”

‘What I learned from my friend that morning is that sometimes, to be in
the moment, you must surrender to it completely. That’s not to say you
won't remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live ourside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you’ve seen. On another level, though. one
you can’t necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

Sub questions

Question Number : 76 Question Id : 162653281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Why couldn’t the author’s friend explain about the
experience on her birthday?

Options:
, = Shewas focused on flying.

> « She was focused in the moment.
= % She was in the hot-air balloon.

4 = Shewas too busy focusing on her friends.

Question Number : 77 Question Id : 162653282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Forfeit means to

Options:



| ® group

pick up

gain

W
i

4 « lose out

Question Number : 78 Question Id : 162653283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is true according
to the passage?
Options:
To truly be present, one must live outside the

, % moment and experience it for others’ sake.

To truly be present, one must live inside the moment

- % and experience it for others’ sake.

To truly be present, one must live inside the moment
5 % and experience if.

To truly be present, one must live inside the moment

4 « and experience it for his/her own sake.

Question Number : 79 Question Id : 162653284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the case of a movie, sometimes it is what
you’ve seen.

Options:

| « impossible to explain

-~ # Dpossible to explain

5 % impossible to write

4 % possible to replicate



Question Number : 80 Question Id : 162653285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word ‘dissect’ means to

Options:

1 % section

5 o analyze
%z % function

4 % find

Question Id : 162653280 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label @ Comprehension

Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning. my friend, her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?”” I asked. “Well, I don’t know if I can explain
it.” she said. “I was so focused on the moment. when it was actually
happening.”

What I learned from my friend that morning is that sometimes, to be in
the moment. you must surrender to it completely. That’s not to say you
won’t remember it later. though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning. I heard the thrill and awe in her voice.

To truly be present. one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — vou’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you’ve seen. On another level, though. one
you can’t necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

Sub questions

Question Number : 76 Question Id : 162653281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Why couldn’t the author’s friend explain about the
experience on her birthday?

Options:
; = Shewas focused on flying.

- « She was focused in the moment.
= #% She was in the hot-air balloon.

4 # She was too busy focusing on her friends.

Question Number : 77 Question Id : 162653282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Forfeit means to

Options:
| % group

pick up

gain

t
®

4 « lose out

Question Number : 78 Question Id : 162653283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is true according
to the passage?
Options:
To truly be present, one must live outside the

, % moment and experience it for others” sake.

To truly be present. one must live inside the moment

- % and experience it for others’ sake.

To truly be present, one must live inside the moment
- % and experience it.

To truly be present, one must live inside the moment

4  and experience it for his/her own sake.



Question Number : 79 Question Id : 162653284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the case of a movie, sometimes it is what
you’'ve seen.

Options:

| impossible to explain

-~ = possible to explain

- u impossible to write

4 % possible to replicate

Question Number : 80 Question Id : 162653285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The word “dissect’ means to
Options:

1 # section

5 o analyze
= % function
4 % find
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Section Id : 16265315

Section Number : 1
Section type: Online
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Section Marks: 20
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Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 16265321
Question Shuffling Allowed : Yes

Question Id : 162653286 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81to 85)
Juestion Label - Comprehension
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Sub questions

Question Number : 81 Question Id : 162653287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 162653288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 83 Question Id : 162653289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 162653290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gfaaer o & ey sRa & o sfoga &

TALTAT FA &7

Options:



gwm
4@3'"1-533;

Question Number : 85 Question Id : 162653291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Id : 162653286 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81to 85)
Juestion Label - Comprehension

A fe&r a1 sre@me # GgeR U T WRaAl & 3cal Ae|

9. g yae 2fEEdr F Redt o7 uger dwea e st A
1945 & TR g3 AR 37 & $oof 1948 3. H| Ay i
el & = TEsgeR SRa 7 off 9 |1 g orger
I TEERT 3T # IR fFan) el 5 F o9 ey =
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HodlcHF Tgcd # Fife & IEv=T g1 an 309+ ey
Hord: 8T & WIEFaeh STIEME # Jadas & ¢l 3 &
B 3 TS e Fgl J1 Fehar 2l

Sub questions

Question Number : 81 Question Id : 162653287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 162653288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
H2MF & G H TR AV ¢

Options:

% 1945 %
, » 1948 %

1954 3.

=z &

, « 1984 %

Question Number : 83 Question Id : 162653289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 162653290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
s S F Fey siRg F g sfagw &

TALTAT FA &7

Options:

Question Number : 85 Question Id : 162653291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 86 Question Id : 162653292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 86 Question Id : 162653292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 87 Question Id : 162653293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 162653293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 162653294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 162653294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 162653295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Subject Related

Section Id : 16265316
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 16265323
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 162653307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cognitive development is a process which occurs due to biological maturation and interaction with the environment.
This was put forth by:

Options:
| « Jean Piaget

Vygoysky

#

BF Skinner

1M
8

4 % Ivan Pavlov
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One of the objectives of pre-primary learning is:
Options:

; = Roteleamning

-  Learning through play

- % Learning in a closed room

, = Learning at home
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Question Number : 103 Question 1d : 162653309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Education according to the Indian system is:
Options:

, % Ameans to earning a living

-  Iraining of human soul in pursuit of truth

5 = Acquiring knowledge

4 = A school for citizenship

Question Number : 103 Question 1d : 162653309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 104 Question 1d : 162653310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cognition does NOT mean:

Options:

, = Making sense of self and the world

-  Storage and retrieval of information

s % Meaningful learning

4 = Thinking and doing

Question Number : 104 Question 1d : 162653310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 162653311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

The current concern of the National Curriculum Framework in curriculum development and reform is:
Options:

. « Making curriculum inclusive and meaningful to children

-~ » Making children thorough with the textbook

5 w Tleacher-centred learning

4 % Focus on socialisation of children

Question Number : 105 Question Id : 162653311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 106 Question Id : 162653312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Learner-centred learning allows students to become:
Options:

, « Creators of knowledge

> % Passive learners

= ® Dependent on teachers

4 # Non-responsive to learning

Question Number : 106 Question Id : 162653312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question 1d : 162653313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to Jean Piaget. an infant or a young child’s mind is:
Options:

1 #% tabula rasa or a blank slate

-  capable of conceptual learning

- % passive and unknowing

4 % Dot competent

Question Number : 107 Question Id : 162653313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 162653314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25



What are the three major domains of human development?
Options:

, « DPhysical, cognitive and psychosocial

- = physical, emotional and spiritual

- w cognitive, emotional and social

4 = cognitive, spiritual and emotional

Question Number : 108 Question 1d : 162653314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 162653315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is correct for effective learning to happen?
Options:

1 % In ateacher-centred class

-  When student is ready to learn

- = Learning is independent to student readiness

4 = Classroom environment has no impact on student learning

Question Number : 109 Question Id : 162653315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 162653316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The constructivist approach has been strongly influenced by:

Options:
LW Piaget

5w Vygotsky

= % Thorndike

4 % Skinner

Question Number : 110 Question 1d : 162653316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Choose the correct option.

“pacing of instructions is important in student learning.”
Options:
,  Students are prevented from making mistakes.

» = Only weak students can be helped.

- w Teacher can complete the topic.

4 % It motivates few students to learn.

Question Number : 111 Question Id : 162653317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 162653318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is Intrinsic motivation?

Options:
, = Teacher gives awards/rewards to strength learning.

-  Students learn for personal satisfaction.

- » ltmeans positive reinforcement.



4 = Itmeans negative reinforcement.

Question Number : 112 Question Id : 162653318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id : 162653319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Students individually perform an experiment and then come together as a class to discuss the results™
— this is an example of:

Options:

| « constructivist approach

- % cognitive learning approach

- % behaviourist approach

4 = teacher-directed approach

Question Number : 113 Question Id : 162653319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question 1d : 162653320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Very often, teachers insist that students should give the answers from the textbook. This implies:

Options:
,  Teachers are rigid.

- % Students cannot think.

- % Students give answers away from the textbook.

4 = Students’ time is getting wasted.

Question Number : 114 Question Id : 162653320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id : 162653321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a diverse classroom, teachers can stunt learning by:

Options:
, = Dpracticing equality

-  discriminating children



- » making students engage in dialogue with teacher and peers

4 = sharing their experiences

Question Number : 115 Question Id : 162653321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 162653322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teacher X treats both boys and girls as learners enhancing the potential of all students. The teacher is practicing:

Options:
1 % Gender bias

- % Global trends

5  Gender equality

4 = Progressive thinking

Question Number : 116 Question 1d : 162653322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question Id : 162653323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Teach to Learn means:

Options:

, « Leamn from every child

- # Authoritative teaching

- » Teacher knows everything

4 = Behaviour modelling

Question Number : 117 Question Id : 162653323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
-z o (ffga & O gegEn) &1 Jaes #24 87

Options:

| v W = W "G

, u SRR fRvegor
. [ W FT AT &

Question Number : 118 Question Id : 162653324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1s a technique that involves inquisitiveness and creativity.
Options:
1 % Lecture method

- % Demonstration



5  Role play

4 % Observation

Question Number : 118 Question 1d : 162653324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question Id : 162653325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Including project-based and play-based approaches in learning:

Options:
, « improves children’s engagement and motivation

- » hampers children’s ability to be self-directed

= % allows no freedom to be creative

4 # increases behavioural issues

Question Number : 119 Question Id : 162653325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 162653326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How is Piaget’s Theory different from others?
Options:

, « Itfocuses on development, rather than learning.

- % It is concerned with all learners.

- = ltproposes a gradual increase in number and complexity of behaviours, concepts. ideas, etc.

4 = Itaddresses learning of information or specific behaviours.

Question Number : 120 Question Id : 162653326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Subject Related

Group Number : 7

Group Id : 16265317
Group Maximum Duration : 0
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Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 20



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 16265317
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 16265324
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 162653327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When Mr. Ram entered his class to teach Science with all the required material and with well-prepared activities, he
faced a noisy class. Two students were involved in a fight and others were shouting and inciting the fighting students.

‘What did the teacher lack?
Options:
; » Content knowledge

- % Self-esteem

5 « Classroom managerial skill

4 = Interestin teaching

Question Number : 121 Question 1d : 162653327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 162653328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Through others we become ourselves™ could be the quintessence of the Sociocultural Learning Theory, which supports
that learning is a social process. This theory was introduced by:
Options:
1 Piaget

5 o Vygotsky

=z % Thorndike

4 % Mari Montessori

Question Number : 122 Question Id : 162653328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question Id : 162653329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
recommends that the institutions of national importance like UGC, NCERT, NIEPA, AICTE, etc. will be
strengthened to enable them to give shape to national system of education.



Options:
, « National Policy on Education (1986)

5 Kothari Commission (1964-66)

- % The National System of Education

4 % National Curriculum Framework
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Establishment of continuing education centres. programmes of distance learning and workers® education through the
emplovers are the programmes included in

Options:

, « Adult Education and Continuing education

~ % Distance education

- » National Literacy Mission

4 #% Vocational education
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The concept may accommodate the UNESCO’s global Education for All (EFA) and educational opportunities
goals while the online learning mode and technologies may address the 21st century learning.

Options:
. « Open and distance learning

» = Open University

5 » Correspondence education

4 % Distance education
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C.B.S8.E. Scholarship Scheme (2016), Sukanya Samriddhi Yojna and Mukhyamantri Rajshri Yojna are the schemes for
in India.

Options:

| ® Women empowerment

> o Girl child education
%z % Adult education

4 % Tribal education
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The essence and one of the roles of education as per NPE is:

Options:
, « Religious role

- #% Acculturation role

. National Literacy Mission



4 % Vocational education
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Who was the chairperson of the National Steering Committee of National Curriculum Framework, 20057

Options:
1 % Prof. Krishna Kant

- » Shri Gopal Guru

= « Prof. Yash Pal

4 % Dr. DS Kothari
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Which of the following is the correct meaning of diversity?
Options:

1 % Differences between two individuals

- = Differences in people due to caste and religion

5 » Dissimilarities among groups

4  Socio-cultural and demographic differences in people
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Gender equity refers to of men and women that are created in families. societies and cultures.
Options:

| « cnsuring faimess to compensate for the historical and social disadvantages

- u characteristics, aptitude and behaviours

- w Sex-disaggregated information



4 = equal conditions for realising full human rights
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What does SEN stand for?
Options:

1 % Social Education Needs

-  Special Educational Needs

= % Societal Educational Standards

4 = Societal Exceptional Needs
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Which of the following statements is NOT true in the context of principles of Inclusive education?

Options:
] % E‘E-'BT}’GI]E can learn.

-~ = Everyone has a right to education.

= % There is value difference.

4 « Discriminatory attitude and behaviour is acceptable.
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Which is the most appropriate method of co-teaching a teacher must use while teaching in the inclusive classroom?

Options:
, = Blended teaching learning

> u Role playing

-  Paralle] teaching



4 = Computer mediated teaching
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What are the challenges and barriers in the development of inclusive education?

i.  Rigid school system

1.  Lack of collaboration
iii.  Inadequate and inappropriate state provision
iv.  None of the above

Select the appropriate answer:
Options:

1 % Only iv

-~ % iandii

5 o 1 1i, and iii

4 % iiand iii
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Single Line Question Option : No Option Orientation : Vertical
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Which of the following is known as the structure and content of a unit, a programme of study and students’ experience
of learning?

Options:

, = Syllabus

» u Objectives

= # Course

4 + Curriculum
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What is the key aspect to be taken into consideration for making the Curriculum of any country?

Options:
1 % Social context

-  Needs of the society

% % Medium of instruction

4 = Methods of delivery
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Which of the following is an example of theme-based curriculum?

Options:

, « Emphasising the importance of finding patterns/relationships between concepts



- u Engagement with a complex problem or scenario

- » [Iransformation of the learner’s way of looking at, and acting in. the discipline

, = A dialogic perspective on eLearning learners need to be ‘scaffolded’
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What is curriculum development?
Options:

, = Changes in objectives

- « Planning, implementation and evaluation

- » Comparing syllabus and curriculum

4 = Content development
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What are the components of ICT?
Options:

1w Hardware, Software, User, Network

» » Computer, Internet, LCD Projector

- = Inputdevices, Output Devices, Storage Devices, Memory Devices

4 # System Software. Operating System
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Which of the following is an impact of ICT on Education?
Options:

, = Encourages absenteeism of students



> u Reduces the importance of the teacher in the classroom

o  Shifts passive learners to active learners

4 % Provides extra time for teachers
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Revisit allowed for view? : No
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Group Marks: 20
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Subject Related

Section Id : 16265318
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 16265325
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 162653347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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What is the use of copyright?
Options:

1 % To save someone’s work online

-  To protect intellectual property from misuse

- % Tousesomeone’s information confidentially

4 #% To share the work online
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The computer-assisted learning idea highly depends on:
Options:

, = University Grants Commission

» « Kothari Commission



- » Knowledge Commission

4 % Vishwanathan Commission
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Which of the following is an example of eL.earning?
Options:

, « Teachers give online tests to assess progress of students.

> % Teachers use traditional chalk and talk method.

- = Students use social networking for studies.

4 = Students complete further education by using technology in distance learning.
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Question Number : 144 Question 1d : 162653350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following assessment techniques can be used with the help of technology?
Options:

, « Discussion, debate. symposia and role play

- » [lutorial in the presence of the teacher

5 » Peer observation while experimenting in science lab

4 = Journal writing

Question Number : 144 Question 1d : 162653350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T HT Aeg ¥ eAtarad # ¥ e deaiee a1 3IAT R ST @A 87

Options:

| T, 9gH, TS R U9 o

L« TR fr Ul § AR

L w T AR H FAT i HT Teha! Hddiehd

4 % OISR oG

Question Number : 145 Question Id : 162653351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the difference between cooperative learning and collaborative learning?
Options:

, « Cooperative learning is face to face and collaborative learning is online



2 ®
Cooperative learning requires cooperation of team members and collaborative learning requires collaboration of team
members

- u Cooperative learning has big groups and collaborative learning has small groups

4, = Cooperative learning needs teacher and collaborative learning needs technology

Question Number : 145 Question Id : 162653351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEeIdr T3reT it mEael e & &= F e 32

Options:

| » TEEN T - § AR wednt e siEass 2

o ®

el BT ¥ BT & wewe  Sesar & saemwar g ¥ 3k wgaeh R & ww & &
TeTaT & FEdeT & H=GTFaT g £l

- TR 6T H 93 TAE & A T BT H B IHE &

g
TEFET e & v Retr it ggant dws & g diemEEr S araeasar g g
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Correct Marks: 1 Wrong Marks: 0.25
What is the main purpose of launching EDUSAT?

Options:
, = Torecover the lacuna of teachers by using educational programmes

- u To create high quality education programmes for students

3. ¢
To provide education to all people, primarily children from remote areas of the country who cannot go to schools or
colleges

4 % Totrain the teachers to use technology effectively
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Correct Marks: 1 Wrong Marks: 0.25
In a class of 40 students, learners show individual preferences for learning. As a teacher you will follow:

Options:
;, » One type of teaching for all

o  Using a variety of teaching -learning methods

- » Conducting many tests

4 % Teacher-directed teaching
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In learning. assessment is important for:
Options:

, = Getting better marks

o  learning

- » Ranking students

4 = Discriminating students
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Correct Marks: 1 Wrong Marks: 0.25
What is the correct sequence of basic skills of language?

Options:
, = Listening, Speaking, Writing and Reading

- % Writing, Reading. Speaking and Listening

- = Comprehending, Listening. Speaking. Writing and Reading

4 « Listening, Speaking, Reading and Writing
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Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an example of deductive method?

Options:

. « Explaining the definition of noun. giving examples of noun and repeating definition of noun.

o> #®
Giving examples of noun and explaining definition of noun and again giving examples of noun.

- u Giving definition and examples of noun at a time.

4 % Showing various things related to noun and asking students to prepare definition of noun.
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is considered as the objective of application?

Options:
; » Touse the vocabulary

- « To tell the central theme in own words
= % To define the statement

4 = Toread effectively
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Correct Marks: 1 Wrong Marks: 0.25
According to NCF-2003, children:

Options:
, « have an innate (by birth) potential to acquire language

- % need to be taught

z % learn from environment



4 w learn from peers
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When the British came to India in 1813, the medium of education used in primary schools started by them was:

Options:
, « Regional language

» w English

- % Hindi

4 % Oriental
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Speech CANNOT be invented by the student but has to be imitated. For this the teacher should:

Options:
, w beagoodmodel

> « be Good imitators

5 » know the rules of grammar

4 = know the pattern of construction of sentences
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The foundational role of the skills associated with language learning:
Options:

, = stops at the primary level

- % stops at the elementary classes

5 = extends up to the secondary stage



4  Zoesup tothe secondary and senior secondary stage
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approach emphasises interaction as both the means and the ultimate goal of learning a language.

Options:
1 # Functional

>  Communicative
= % Direct

4 = Audio-lingual
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A most common scenario in schools is children not being able to read. As a teacher, how will you promote reading in
your students?

Options:
, = Telling them to read at home

> u Tlelling them to visit library

-  Reading to the students with appropriate gestures, dramatization etc.

4 = Peerreading
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What comes under applied branch of mathematics?
Options:

; » Algebra

5 % Geometry



5 % Arithmetic

4 « A wide range of studies with a wide use
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“To use mathematical language’ — what objective will be fulfilled by this statement?
Options:

, = Application

- = Understanding

2 o Skill

4 % Aftitude
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Which is the correct example for the maxim simple to complex?

Options:
, = Solid things should be presented first.

-  New knowledge should be linked with the old knowledge.

3.
Simple or easy things should be first presented to the students and gradually proceeded towards
complex or difficult things.

4 w The teacher should try to acquaint the child with the whole lesson first.
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What is meant by pedagogy of mathematics?
Options:

, « Science of teaching mathematics

> u Artof teaching mathematics

5 » Content of teaching mathematics

4 w Teaching mathematics to under-graduate students
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Which of the following is an example of inductive method?

Options:

, « Showing cutouts of angles. stating the rule of angle and then asking more examples of angles

- = Stating the rule of angle, giving examples of angles and again explaining the rule of angle

- u Asking the definition of angle and showing examples of angle

4 = Showing examples of angles and asking definition of angle
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What are the objectives of teaching Environmental Science as per the National Curriculum Framework, 20057

Options:



, » Todevelop awareness about environmental issues

-~ % Todevelop an understanding based on observation and illustration

g -
To create cognitive capacity and resourcefulness to make the child curious about social phenomena

4  All of the options
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According to NPE. the main reason for inclusion of Environmental Science as an integral component of education is:
Options:

1 #% to make students aware about their environment

-  tomake students value protection and conservation of environment

= % to make students learn about environmental issues

4 = toprepare students for future environmental hazards
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is a way of working with children and creating settings for care and education that embraces nature.

Options:
1 # Environmental studies

5 % Natural pedagogy
- « Nature pedagogy

4 #® Nature-based teaching
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The most appropriate strategies for teaching environmental studies are:

Ttnzmall group projects, field trips. outdoor studies and exhibits
- % Simulation and games, debates, readings and laboratory work
- u Debates, lectures, laboratory work and art and craft
, = Field visits, art and craft. presentations and lectures
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The learning experiences provided by Science teachers to teach nature studies to their students must include:
Options:

1 ® outdoor games. sports education and field trips

5 o Service learning, community engagement and place-based learning

- » field trips. technology-based teaching and service learning



4 w game-based learning. sports and project-based activities
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A branch of science that deals with the institutions and functioning of human society and with the
interpersonal relationships of individuals as members of societv is known as

Options:
, = Sociology

> « Social science

- = Educational sociology

4 % Social studies
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Which of the following statements is true?
Options:
, = Social science deals with the study of human relationships.

-  Social science is the source and storehouse of scientific social knowledge.

- = Social science deals with the study of people as subject matter.

4 w Social science is the relationship of humans with their environment.
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Social Science teaching—learning is NOT vital for which of the following reasons?
Options:

, w tobean active, responsible and reflective members of society

- % tolearn how society is structured. managed and governed



= w tounderstand social reforms and problems

4  to conduct research on environment, resources and development
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How do performing arts help students?
Options:

1 # It increases marks of students.

-  ltdevelops self-expression and creativity and discovers skills among students.

- # Itteaches how to perform on stage.

4 = It gives career options to students.
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How can we develop psychomotor skills among students?

Options:
, = Solving maths puzzles

> o Art and craft activities

5 w Writing an essay

4 = Solving crossword
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Which principle is the base for performing drama in a school?
Options:

, « Learning by doing

- u Principle of expression



- u Learning with expression

4 % Life skill education
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Which of the following are self-defence activities?
Options:

, « Hiking, trekking. judo and karate

- # hunting, folk dance and fishing

= ® Asana Pranayama Krivas

4 = Lezium dance, mass physical training and dumb bell
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Which abilities should be implied through Physical Fitness?
Options:

1 % Recreational abilities

- % Self-defence abilities

5 # Abilities in cognitive domain
4. v
Resisting fatigue. performing with an acceptable degree of motor ability and being able to adapt to muscular stress
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Which of the following statements is true with regard to the effects of performing physical activity?
Options:

; w Students grow much faster than other students.

> w Students get the habit of winning.



= » Students know the use of ground activities.

4 « The students come closer with each other and adjust themselves according to situations.
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When does intense and crucial socialisation take place in human beings?

Options:
, = During adulthood

-  During adolescence

- » During early childhood

4 = Throughout the life of an individual
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Educational Psychology mainly deals with understanding the common behaviour of:

Options:
1 % workers

- % adults
- % teachers

4 + students
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The importance of the Mid-Day Meal Programme was:
Options:

, « totackle malnutrition and also provide the basis for nutrition education

- % to increase student enrolment



5 w toreduce student dropouts

4 = A philanthropic act
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Correct Marks: 1 Wrong Marks: 0.25
The curriculum of health and physical education should include concepts of health, disease and environmental
determinants of health as:

Options:
, = Textual learning

-  Experiential learning from primary classes

- u Physical activities

4 = Only at secondary level
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As a teacher. how will you define ‘Gender’?
Options:

, « Physiological aspect

- » Biological entity



- u Innate quality

4 % Social constrain
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A child begins to cry when the mother drops her off at school. This behaviour is related to:

Options:
, = Stranger anxiety

-  Separation anxiety

- % Emotional anxiety

4 = Social anxiety
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Why do we need gardening activities in school?
Options:

; = Toimprove a school’s garden area.

> % Tomake students aware of gardening.

5  Toimprove environmental attitude.

4 = Toengage students in their free periods.

Question Number : 183 Question Id : 162653389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question 1d : 162653390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is included in school physical health?

Options:

1.9

Infrastructure, furniture, presence of chemicals and biological agents; the site on which a school is located and the
surrounding environment including the air, water.



» w» Infrastructure, medical services, health related services.

- % Physical health of students and teachers.

4 % School building and surrounding.

Question Number : 184 Question 1d : 162653390 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question 1d : 162653391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What are the risk factors in a school?
Options:

; = School premises

> % Aftitude of teachers
= % Health of students

» Unsafe water, poor sanitation and poor hygiene

Question Number : 185 Question Id : 162653391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 186 Question Id : 162653392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the causes of allergic asthma?

Options:
1 % Pollution

- % Paint fumes
=z % Coal smoke

4 « Cat hair, saliva, and urine

Question Number : 186 Question 1d : 162653392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 162653393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How can you protect students from food poisoning?

Options:



, » By asking them about their food allergies.

-~ % By providing them with healthy food.

- By tasting the food before serving them.

4 = By not providing them food in school premises.

Question Number : 187 Question Id : 162653393 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 162653394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Given below are two statements. Select the most appropriate option about how the sentences are related to each other.

We improve a school’s physical environment.
The health of students and staff will improve.

Options:
1 « First statement is the cause of the second statement.

- % First statement is an effect of the second statement.
= # Second statement is a not a cause of the first statement.

4 = Thereisn’t any relationship between these two statements.

Question Number : 188 Question Id : 162653394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 162653395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a Community Outreach Activity?

Options:
; = Vvolunteer work in hospitals and fairs

- # Adult literacy programme

= « Educational excursion

4 = Health programmes

Question Number : 189 Question 1d : 162653395 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 162653396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Work education programume provides students opportunities to develop skills for:
Options:

, « Productive efficiency

-~ # Relationship building

= » Application of knowledge

4 % Problem solving

Question Number : 190 Question Id : 162653396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 162653397 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pre-vocational Skill Development Activities are designed:
Options:

, = toprepare students for active engagement.

- « to prepare the students for the world of work.

- = to prepare students for community service.



4 = toprepare students for labour market.

Question Number : 191 Question Id : 162653397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 162653398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following are the necessary competencies a teacher should have?
Options:

. Instructional delivery. Classroom management. Soft skills, Assessment.

> » Communication skills, knowledge of teaching - learning process.

5 » Dealing with students, problem solving skills. teaching skills.

4 = Soft skills, lesson planning. classroom management.

Question Number : 192 Question Id : 162653398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 162653399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In-service training for teachers is designed for:

Options:
, = manpower development of the school system and educational enterprise.

- = the growing needs of education.

5  upgrading professional skills, knowledge and interest.

4 = Job satisfaction and career prospects.

Question Number : 193 Question 1d : 162653399 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question Id : 162653400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The functions of Parent Teacher Association are all of the following, except:

Options:
; = toencourage different aspects of parental involvement

-  tosuggest modifications in the syllabus

- = to facilitate consultation on school policies



, = tohold discussions on topics relevant to the school discipline

Question Number : 194 Question Id : 162653400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 162653401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Culturally sensitive community involvement in school is important for all of the following reasons, EXCEPT that:
Options:

, = it acknowledges and embraces a student’s racial or ethnic background

- = itrecognises and respects diversity in school culture

5  itimproves parent teacher relationships

4 = itimproves abilities of culturally responsive teaching.

Question Number : 195 Question 1d : 162653401 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 162653402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Primary teachers are expected to contribute in organizational management mainly by:

Options:
, = developing teaching aids

-  managing the school’s human. physical and financial resources

- % communicating with parents

4 = maintaining records

Question Number : 196 Question Id : 162653402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 162653403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

All of the following are the responsibilities of a teacher in school administration, EXCEPT:
Options:

, w Participating in staff. group or other meetings

- % Participating in school assemblies



- » Communicating, consulting and co-operating with other members

4 « Ensuring financial benefits for self-development

Question Number : 197 Question Id : 162653403 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 162653404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an important characteristic commonly found in effective school administrators at the primary
level?

Options:

, « Leadership and management

> # Mastery over subject knowledge

%z % Effective communication

4, = Interpersonal relationship

Question Number : 198 Question Id : 162653404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 162653405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Parents must be encouraged to participate in all of the following decision-making school activities, EXCEPT:

Options:
1 % School uniforms

-~ = Socially useful activities

= « Examination reforms

4 % Cultural events

Question Number : 199 Question Id : 162653405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question Id : 162653406 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

School education professionals can help parents with their changing roles in all of the following ways, EXCEPT:
Options:

, = providing academic support



- % providing counselling

-  providing food and medicines

4 = providing expertise

Question Number : 200 Question Id : 162653406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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